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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH,

"RHopt’ ], ['ETcl’, 'optETcl’], ’"LAI’,

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-3 0
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755 760 765 785 790 795 815 820 825 850 855 860



m=885, FV0=0

25.0
—— MW
24.5
24.0
23.5 -
23.0
T T T
885 890 895

m=920, FV0=0
25.0 A - MW
24.5 4
24.0 A
23.5 A
T T T
920 925 930

m=935, FV0=0
—— MW

25.0 -
24.5
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23.5 -

T T T

955 960 965

m=995, FV0=0
25.5 A - MW
25.0 A
24.5 A
24.0 A
T T T
995 1000 1005
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P3-3

BrE) | GEBAKE) | ERE(EH/AR) | EREE (G/R) [ XS R

06:55 273 150. 0 2.583 F|  {Ri1%006:55 Hah (RF{ESE
07:30 273 150.0 2.583 F  BRi1%e07:30 Ba1 (GRAERSE)
08:15 273 150.0 2.583 S| {Rige08:15 Bz (KRAMERSE)
09:05 273 150. 0 2.583 E BRi%@09:05 BE1 (RAERE)
09:50 273 150.0 2.583 F[ BR1%e09:50 BE1 (RAERE)
10:25 273 150.0 2.583 =l {Ri%@10:25 B3 (RAERSE)
11:00 273 150. 0 2.583 E BRige11:00 Bz (GRAERESE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:00 273 150.0 2.583 =l RRiB012:00 Bz (REAKEE)
12:30 273 150. 0 2.583 E BRige12:30 Bz (GRAERESE)
13:00 273 150.0 2.583 5| {Ri%e13:00 B3 (RAERSE)
13:30 273 150.0 2.583 = RRiB013:30 B (RFAKESE)
14:05 273 150. 0 2.583 E BRige14:05 Bz (GRAERESE)
14:45 273 150.0 2.583 = RiB014:45 Bz (RAEESE)
15:30 273 150.0 2.583 =l RRiB015:30 B (RFAEESE)
16:20 273 150. 0 2.583 =l RRiB016:20 B3 (REAKEE)
17:20 273 150. 0 2.583 El BRi&e17:20 Bz GRAEREE)
Bt 4641.0 (17)%) 2550. 0 32 3HKEC: 2080.0, PH: 6.0

#HEKRECE (1877.0 vs 4010.0) d5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=70 (2025-06-07)
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Warning: lcol ["WC1',  "WC2'] missing
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0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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o | OPtPHO=6.5, setPHB=6.0 t
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0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
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200 - I > -
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1
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100 ! 4 11 - 1000
o Jlo o o o o I I I B
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084 BB 5 g o B 5 g o B 5 g e B 5 g e B 5 5 e B 5 g e
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0.4 1
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0.0
1500 4 —_ A

1000 A
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| _obs

—@— PPFD obs
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40 -

RH_obs
RHo_obs
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VPD

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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0 .
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0 .
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880 885 890




m=910, FV0=0

25.0 - MW
24.5
24.0
23.5 -
T T T
910 915 920

m=945, FV0=0
25.0 - —o— MW
24.5 -
24.0 -
23.5 A
T T T
945 950 955
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—— MW
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T T T

980 985 990

m=1030, FV0=0
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P3-3

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:30 273 150. 0 2.583 E 1BRi&e06:30 Bzl (RAEREE)
07:05 273 150.0 2.583 5| {Ri%@07:05 Bz (FAERSE)
07:55 273 150.0 2.583 = {Rig@07:55 B (RAERSE)
08:35 273 150. 0 2.583 E  1BRi&e08:35 Bzl (RAERE)
09:15 273 150.0 2.583 5| {Ri%e09:15 Bz (FRAERSE)
09:55 273 150.0 2.583 = {RRiB009:55 B (RFAEEE)
10:30 273 150.0 2.583 = RRi8010:30 Bzh (REAEEE)
11:00 273 150.0 2.583 5 {Ri%e11:00 B3 (RAERSE)
11:30 273 150.0 2.583 =l {Rige11:30 B3 (RAERSE)
12:00 273 150.0 2.583 Sl {Rige12:00 B3 (RAERSE)
12:30 273 150. 0 2.583 E| {Rig012:30 B3h (RE{ERSE)
13:00 273 150.0 2.583 F[ BRige13:00 Bz (GRAERSE)
13:30 273 150.0 2.583 S| {Rig@13:30 B3 (KRAERSE)
14:00 273 150. 0 2.583 El BRige14:00 Bz (GRAERESE)
14:40 273 150.0 2.583 F BRige14:40 Bz CGRAERSE)
15:20 273 150.0 2.583 =l {Rig015:20 B3 (RAERSE)
16:00 273 150. 0 2.583 El BRige16:00 Bzl (RAERERE)
16:45 273 150.0 2.583 5| {Ri%e16:45 B3 (GRAERSE)
2it] 4914.0 (18X%) 2700. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1820.0 vs 3907.0) d5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=69 (2025-06-06)

] 4000
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Warning: lcol [FVI',| "FVO’'] missing 86
0 - -0
[ RS - — ME f30
200 FRV ———  maxM
- 25
_____________________________________________________________________________________ "
=
TIEEI IR
I 4 15
1.0
4
0.8
0.6 -
0.4 1
0.2 A
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P3-3

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:30 273 150.0 2.583 S| {Ri%@06:30 B3 (KRAMERSE)
07:25 273 150. 0 2.583 E BRi&e07:25 Ba1 (GREERESE)
08:40 273 150.0 2.583 (Z=| {Ri%e08:40 Bzh (FAERSE)
09:30 273 150.0 2.583 FA| {Ri%@09:30 Bz (RkA{EREE)
10:15 273 150.0 2.583 FA| {Ri%@10:15 Bz CGRAEESE)
11:00 273 150.0 2.583 FA| {Ri%@11:00 Bz (GRAEEE)
11:45 273 150.0 2.583 FR| {Ri&@11:45 Bz CGRAERESE)
12:25 273 150.0 2.583 FR| {Ri%@12:25 Bz CGRAEESE)
13:15 273 150.0 2.583 |Z=| {Ri&e13:15 Bzl (REEZERE)
14:00 273 150.0 2.583 (Z=| 1Rig@14:00 B3 (RAERSE)
14:50 273 150.0 2.583 (Z=| {Ri%@14:50 Bz (REAEBSE)
16:10 273 150.0 2.583 (£=| 1Rige16:10 Bz (RAEDSE)
17:25 273 150.0 2.583 |Z=| {Ri&e17:25 Bz (REEZBE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

#HEKRECE (1773.0 vs 3850.0) id 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=68 (2025-06-05)
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